Tableaux des Puissances de Dix (B)

Multipliez le nombre de la rangée par celui de la colonne.
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0,001
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100

1,49
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7,96
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0,0001

100
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0,001

7,61

8,9
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Tableaux des Puissances de Dix (B) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 0,001 10 100
1,49 0,000149 0,00149 14,9 149
4,95 0,000495 0,00495 49,5 495
6,36 0,000636 0,00636 63,6 636
7,96 0,000796 0,00796 79,6 796
9,45 0,000945 0,00945 94,5 945

X 0,0001 100 1 000 0,1
2,82 0,000282 282 2820 0,282
6,11 0,000611 611 6110 0,611

3,1 0,00031 310 3100 0,31
8,64 0,000864 864 8 640 0,864
9,84 0,000984 984 9 840 0,984
X 10 100 10 000 0,001
7,61 76,1 761 76 100 0,00761
8,9 89 890 89 000 0,0089
9,55 95,5 955 95500 0,00955
5,78 57,8 578 57 800 0,00578
1,83 18,3 183 18 300 0,00183

X 100 0,1 0,0001 1 000

1,6 160 0,16 0,00016 1600
2,75 275 0,275 0,000275 2750
8,63 863 0,863 0,000863 8 630
9,03 903 0,903 0,000903 9030
6,49 649 0,649 0,000649 6 490
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